# #M=ZE Python Program
# Fashion MNIST dataset @ Segential ETILIZ &K 2% T & F 1Mt N IZHRET

import tensorflow as tf
from tensorflow import keras

# fashion mnistd & HAH
fashion_mnist = keras. datasets. fashion_mnist
(X_train_full, y_train_full), (X_test, y_test) = fashion_mnist. load_data()

t BRIy FPOER&ETDT—2ADEEF/NERHA~DEHR (0MBT)

X_valid, X_train = X_train_full[:5000] / 255.0, X_train_full[5000:]1 / 255.0
y_valid, y_train = y_train_full[:5000], y_train_full[5000:]

X _test = X _test / 255.0

class_names = [“T-shirt/top”, “Trouser”, “Pullover”, “Dress”, “Coat”
“Sandal”, “Shirt”, “Sneaker”, “Bag”, “Ankle boot”]

# o—47 o v ILAPIEFESF-ETILDER (BDUZRX )
model = keras. models. Sequential ([
keras. layers. Flatten(input_shape=[28, 28]),
keras. layers. Dense (300, activation="relu”),
keras. layers. Dense (100, activation="relu”),
keras. layers. Dense (10, activation="softmax”)

i)

# ETILOaINAIL
mode|. compile (loss="sparse_categorical_crossentropy”
optimizer="sgd”, metrics=["accuracy”])

# ETILOIIE L T
history = model. fit(X_train, y_train, epochs =30, validation_data=(X_valid, y_valid))

import pandas as pd
import numpy as np
import matplotlib. pyplot as plt

t 05 7DHE
pd. DataFrame (history. history). plot(figsize=(12,5))
plt. grid(True)
plt. gca().set_ylim(0, 1) # ftDOEHFEZ0N 51FE TIZ

plt. show()
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# F2E O

score = model. evaluate (X_test, y_test, verbose=0)
print (“Test loss:”, score[0])

print (“Test acuuracy:”, score[1])

¥t ETILEFES-FA

num =5

X_new = X_test[:num]

y_pred = model. predict_classes (X_new)
print("FHl ")

np. array (class_names) [y_pred]

i

array ([' Ankle boot’, "Pullover’, 'Trouser’, 'Trouser’
dtype="<U11")

# IEfE

y_new = y_test[:num]
print("IEfE : 7)
np. array (class_names) [y_new]

2 -

array ([ Ankle boot’, "Pullover’, 'Trouser’, 'Trouser’

dtype="<U11")

"Shirt'],

"Shirt'],



